AP Calculus AB Multiple Choice Set 1
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Which of the following are antiderivatives of fx) = cossinx 2
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‘The graph below shows the velocity of a moving object as a function of time.

Atwhattime has the objectreached fs maximum speed?
a0
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‘The graph below shows the velocity of a moving object as a function of time.

Over whatinterval does the object have the greatest acceleration?
a2
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a2x-y=m 1
b.2xey= 1

c2x-2y=2-7

d.4x+ 2y
e. None ofthe above.
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“The graph of the function fis given below.
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‘The function fis given by flx) = x* - 8x® + 24x? — 32x + 15. All of these statements are true EXCEPT
© a1and3are zeros of £

) b.r@)=0.

©cr@=o

) 4.(2,~1)is 2 point of inflecion of .
© e.(2,~1)is alocal minimum of .
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‘The function fis given by fix) = 3¢ fis decreasing over which interval?
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Letfand g be twice differentiable functions such that (x) = 0 for all xin the domain of £ If h(x) = flg"(x))
andm(3)=-2 then atx=3

© a.his concave down.

b.gis decreasing.

© cfis concave down,

) d.gis concave down

© e.fis decreasing.
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In the diagram below, fhas a vertical tangent at x = 1 and horizontal tangents at x = 2 and at.x = 5. All of
these statements are true EXCEPT

19

a
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Whatis the area of the region bounded by the curves y =x* + 1 and y =+ from x= 0to x=27
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Determine ;LV forthe curve defined by x* +
X
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‘The graph of )
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Whatis the average value ofy = sin2¢ over [ .z :|')
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e.Itis nonexdstent.
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The graph of ) = is concave down over which interval(s)?
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The area ofthe shaded region in he diagram above s equivalentto
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Aparticle's position s given by s(0 = sint + 2cost + L +2. The average velocity ofthe particle over
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Ifi{xk{e x<In2
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then lim _f(x)=
x=In2
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In the triangle shown above, 8 is increasing at a constant rate of % radians per minute. At what

rate i the area of the triangle increasing, in square units per minute, when 5 is 24 units?
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Which of the following is an equation for a line tangentto the graph of fix) = € when £ (x) = 107

dy=10x-115

e.y=10¢-305
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‘The graph of the derivative of fis shown above. Which of the following statements is true?
2.10)<16)<A2)<A4)
b.106) < 10) <12) < 14)
©10) <12) <114) <6)
4.12)<A0)<6) < A4)
©.100) <12) <1(6) <14)
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Car Ais travelling south at 40 mph toward Hillile, and Car & is traveling west at 30 mph toward
Millille. If both cars began traveling 100 miles outside of Millill attne same time, then at what rate, in
mph, is the distance between them decreasing after 90 minutes?
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Letrbe afunction suchthat  lim M 3
[

Which of the following must be true?
115)=3
1r(5)=3

L is continuous and diferentiable atx = 5.

© alony

) bllonly
) clonly

d.1andlionly

e.lland il only
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‘The function fwhose erivative is given by £(x) = 5x* ~ 16x+ 7 has a local maximum atx=
21930
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Let flx) Which of these statements is true?

I.fis continuous at

I fis differentiable at x= 1.

I 7has a local maximum at

) alonly

) bllonly

© clilonly

.1 and il only

© e llandlionly
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Ify=3x—7 and x= 0, whatis the minimum product of x%?
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Whatis the area of the region bounded by y = sinx, — 1,andtne y-axis?
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Ategion R located in the first quadrantis bounded by the x-axis, y = sin, and y = % . Determine the
Volume ofthe salidformed when Ris rotated about the -axis
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Letfbe the function given by f(x)= X _Forwhatvalue of is the slope of the line tangentto fequal
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to-10242
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‘The araph offis shown above. I g(x)= J ’; RO, for whatvalue of x does g(x) have a relative
minimum?
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‘The graph of the function y = x* - x2 + sinx changes concavity at x =
) 2.0324
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Atabl afvlues fo  cominuous fncto is shown aboe, fthree equal subinenas e usadfor
v
{061 Which of e following i equivalentto 3 ighand Remann Sum spproxmationfor | & fixkbe?
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‘The graph of a function fis shown above. Which of these statements about fis false?

a.fis continuous but not diflerentiable atx = a.

o lim (f(xﬁ)f rw)g im (F(ma)f rm)
a a

¢ fla).is defined, butfc). s not.

4116)=0.

e lim (f(x)): hm‘(f‘(x))
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Let be defined as follows: f(x
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% dt hen F(2)=





image4.png
Ilt(x):lanzx‘smx.meni'(% >:

5

N

2
[

gm
“‘a

ks




image5.png
Atwhich of the following points is the graph of ix) = x* ~ 2¢* ~ 2+% 7 decreasing and concave down?
) a.01,-10)

) b.(2,-15)
) c@2)
) d.(-1,-8)

) e.(=2.17)




